# New Explicit Solutions for Troesch's Boundary Value Problem 

Lazhar Bougoffa and Mohammed A. Al-khadhi
Department of Mathematics, Faculty of Science, Al-imam University
P. O. Box 84880, Riyadh 11681, Saudi Arabia

E-mail address: bougoffa@hotmail.com (Lazhar Bougoffa)
Received January 13, 2008; Accepted June 16, 2008

In this note, we consider a general problem

$$
\begin{gathered}
y^{\prime \prime}=\lambda(x) \sinh (\mu(x) y), 0<x<1, \\
y(0)=0, \quad y(1)=1,
\end{gathered}
$$

where $\lambda(x)$ and $\mu(x)$ are two functions. An explicit solution is obtained.

Keywords: Explicit solution, Troesch's equation, Lie point symmetry.

## 1 Introduction

Due to the development of systems of nonlinear ordinary differential equations, the boundary value problem of the nonlinear Troesch equation [1-4]:

$$
\begin{gather*}
y^{\prime \prime}=\lambda \sinh (\lambda y), 0<x<1,  \tag{1.1}\\
y(0)=0, y(1)=1, \tag{1.2}
\end{gather*}
$$

where $\lambda$ is a constant, has been given extensive attention in recent years numerically [5-8]. The analytic treatment was investigated in [3,4], where the authors obtained the closedform solution to this boundary value problem in terms of the Jacobian elliptic function as

$$
y(x)=\frac{2}{\lambda} \sinh ^{-1}\left\{\frac{y^{\prime}(0)}{2} \operatorname{sc}\left(\lambda x \left\lvert\, 1-\frac{1}{4} y^{\prime 2}(0)\right.\right)\right\}
$$

where $y^{\prime}(0)$ is the derivative of $y$ at 0 and given by the expression $y^{\prime}(0)=2 \sqrt{1-m}$ in which $m$ is the solution of the transcendental equation

$$
\frac{\sinh (\lambda / 2)}{\sqrt{1-m}}=\operatorname{sc}(\lambda \mid m)
$$

The Jacobian elliptic function [1,2] is defined by

$$
\operatorname{sc}(\lambda \mid m)=\frac{\sin \phi}{\cos \phi}
$$

where $\phi, \lambda$ and $m$ are related through the integral

$$
\lambda=\int_{0}^{\phi} \frac{1}{\sqrt{1-m \sin ^{2} \theta}} d \theta
$$

One of the main problem of mathematics appears when $\lambda(x)$ and $\mu(x)$ are analytic functions and are added to the original equation of Troesch.

The new problem, incorporating the above functions, is

$$
\begin{gather*}
y^{\prime \prime}=\lambda(x) \sinh (\mu(x) y), 0<x<1,  \tag{1.3}\\
y(0)=0, \quad y(1)=1 . \tag{1.4}
\end{gather*}
$$

Such additional functions of $x$ arise when there is propagation in an inhomogenious medium.

A question which arises naturally is under what conditions on the functions $\lambda(x)$ and $\mu(x)$ does the given boundary value problem (1.3)-(1.4) have an explicit solution?

## 2 The Explicit Solution

Let

$$
\begin{equation*}
u=\mu(x) y \tag{2.1}
\end{equation*}
$$

Substituting this into eq.(1.3) we get

$$
\begin{equation*}
\frac{d}{d x}\left(p(x) \frac{d u}{d x}\right)+q(x) \frac{d u}{d x}+r(x) u=\frac{\lambda(x)}{2}\left(e^{u}-e^{-u}\right) \tag{2.2}
\end{equation*}
$$

where

$$
p(x)=\frac{1}{\mu(x)}, \quad q(x)=\left(\frac{1}{\mu(x)}\right)^{\prime} \quad \text { and } \quad r(x)=\left(\frac{1}{\mu(x)}\right)^{\prime \prime}
$$

Multiplying both sides of (2.2) by

$$
\xi(x)=\exp \left\{\int \frac{q(x)}{p(x)} d x\right\}
$$

and taking into account $\xi^{\prime}(x) p(x)=\xi(x) q(x)$, we obtain

$$
\begin{equation*}
\left(\xi p u^{\prime}\right)^{\prime}+\xi r u=\frac{\xi \lambda}{2}\left(e^{u}-e^{-u}\right) \tag{2.3}
\end{equation*}
$$

Assume that $r(x)=0$, that is, $(1 / \mu(x))^{\prime \prime}=0$. Eq.(2.3) becomes

$$
\begin{equation*}
\left(\xi p u^{\prime}\right)^{\prime}=\frac{\xi \lambda}{2}\left(e^{u}-e^{-u}\right) \tag{2.4}
\end{equation*}
$$

Let

$$
\begin{equation*}
u=\ln z \tag{2.5}
\end{equation*}
$$

Then eq.(2.4) may be written as

$$
\begin{equation*}
(\xi p)^{\prime}\left(\frac{z^{\prime}}{z}\right)+(\xi p)\left(\frac{z^{\prime \prime}}{z}-\left(\frac{z^{\prime}}{z}\right)^{2}\right)=\frac{\xi \lambda}{2}\left(z-\frac{1}{z}\right) \tag{2.6}
\end{equation*}
$$

The transformation of $v=z^{\prime} / z$ into eq.(2.6) leads to

$$
(\xi p)^{\prime} v+(\xi p) v^{\prime}=\frac{\xi \lambda}{2}\left(z-\frac{1}{z}\right) .
$$

Since $z=z^{\prime} / v$, we get

$$
(\xi p)^{\prime} v+(\xi p) v^{\prime}=\frac{\xi \lambda}{2}\left(\frac{z^{\prime}}{v}-\frac{z^{\prime}}{v z^{2}}\right)
$$

It follows that

$$
\begin{equation*}
v((\xi p) v)^{\prime}=\frac{\xi \lambda}{2}\left(z^{\prime}-\frac{z^{\prime}}{z^{2}}\right) \tag{2.7}
\end{equation*}
$$

To integrate (2.7) we set $w=\xi p v$ and, if we choose $\xi^{2}(x) p(x) \lambda(x)=a>0$, where $a$ is a constant, that is, $\lambda(x)=a \mu^{3}(x)$, because of $\xi(x)=1 / \mu(x)$ and $p(x)=1 / \mu(x)$, we obtain

$$
w^{2}=a\left(z+\frac{1}{z}\right)+b
$$

where $b$ is an arbitrary constant of integration. Thus

$$
w= \pm \sqrt{a z+\frac{a}{z}+b}
$$

and so

$$
v=\frac{ \pm 1}{\xi p} \sqrt{a z+\frac{a}{z}+b}
$$

Hence

$$
\frac{z^{\prime}}{z}=\frac{ \pm 1}{\xi p} \sqrt{a z+\frac{a}{z}+b}
$$

It follows that

$$
\begin{equation*}
\frac{d z}{\sqrt{a z^{3}+b z^{2}+a z}}=\frac{ \pm 1}{\xi(x) p(x)} d x \tag{2.8}
\end{equation*}
$$

Integrating both sides of eq.(2.8) we obtain

$$
\begin{equation*}
\frac{\Phi(z) \digamma(\phi \mid m)}{\Psi(z)}= \pm \int \mu^{2}(x) d x+c \tag{2.9}
\end{equation*}
$$

where

$$
\Phi(z)=i z^{\frac{3}{2}} \sqrt{2} \sqrt{\frac{2 a / z+b+\sqrt{b^{2}-4 a^{2}}}{b+\sqrt{b^{2}-4 a^{2}}}} \sqrt{\frac{2 a}{\left(b-\sqrt{b^{2}-4 a^{2}}\right) z}+1}
$$

$\digamma(\phi \mid m)$ is the elliptic integral of the first kind,

$$
\begin{gathered}
\phi=i \sinh ^{-1}\left(\frac{\sqrt{2} \sqrt{a /\left[b+\sqrt{\left.b^{2}-4 a^{2}\right]}\right.}}{\sqrt{z}}\right) \\
m=\frac{b+\sqrt{b^{2}-4 a^{2}}}{b-\sqrt{b^{2}-4 a^{2}}}
\end{gathered}
$$

and

$$
\Psi(z)=\sqrt{\frac{a}{b+\sqrt{b^{2}-4 a^{2}}}} \sqrt{z\left(\left(z^{2}+1\right) a+b z\right)}
$$

The general solution of eq.(1.3) is given by $y=(1 / \mu(x)) \ln z$, where the implicit solution for $z$ is given by (2.9).

Now, if we choose $b=2 a$ and from (2.8) we have

$$
\frac{2 \tan ^{-1}(\sqrt{z})}{\sqrt{a}}= \pm \int \mu^{2}(x) d x+c
$$

then

$$
\begin{equation*}
z=\tan ^{2}\left( \pm \frac{\sqrt{a}}{2} \int \mu^{2}(x) d x+c_{1}\right) \tag{2.10}
\end{equation*}
$$

where $c_{1}=(1 / 2) \sqrt{a c}$.
In order to find the particular solution to the given boundary value problem, (1.3)-(1.4), we use the boundary conditions (1.4) and the substitution $y=(1 / \mu(x)) \ln z$ to get $z(0)=1$ and $z(1)=e^{\mu_{1}}$, where $\mu_{1}=\mu(1)$. Therefore with this choice the values of $c_{1}$ become

$$
c_{1}=n \pi+\frac{\pi}{4} \pm \frac{\sqrt{a}}{2} s(0), n=0,1, \ldots,
$$

and

$$
c_{1}=\tan ^{-1}\left(\exp \left[\frac{\mu_{1}}{2}\right]\right) \pm \frac{\sqrt{a}}{2} s(1)
$$

where $s(x)=\int \mu^{2}(x) d x$, and we get in both of theses cases the following condition

$$
\tan ^{-1}\left(\exp \left[\frac{\mu_{1}}{2}\right]\right)= \pm \frac{\sqrt{a}}{2}(s(0)+s(1))+n \pi+\frac{\pi}{4}
$$

Thus we have proved the following theorem
Theorem 2.1. Let $\mu(x)>0$ be continuously differentiable function such that $(1 / \mu(x))^{\prime \prime}=$ 0 and let $\lambda(x)=a \mu^{3}(x)$, where $a>0$ is a constant. Then the functions

$$
y=\frac{1}{\mu(x)} \ln \left(\tan ^{2}\left( \pm \frac{\sqrt{a}}{2} \int \mu^{2}(x) d x+n \pi+\frac{\pi}{4} \pm \frac{\sqrt{a}}{2} s(0)\right)\right), n=0,1, \ldots,
$$

solve the problem (1.3)-(1.4) if

$$
\tan ^{-1}\left(\exp \left[\frac{\mu_{1}}{2}\right]\right)= \pm \frac{\sqrt{a}}{2}(s(0)+s(1))+n \pi+\frac{\pi}{4}
$$

where $\mu_{1}=\mu(1)$ and $s(x)=\int \mu^{2}(x) d x$.

Remark 2.1. The solutions obtained in Theorem 2.1 for the functions $\lambda(x)$ and $\mu(x)$ are based on the choice of the arbitrary constant of integration. In principle we can choose the other from eq.(2.8).

Below we present the general theory of the Lie symmetry analysis for (1.3)-(1.4).

## 3 General Theory of Lie Symmetries

The original equation of Troesch is autonomous and so possesses the Lie point symmetry $\partial_{x}$. The generalized equation does not possess any Lie point symmetries for arbitrary functions $\lambda(x)$ and $\mu(x)$. Consequently one asks the question. Is there any combination of functions $\lambda(x)$ and $\mu(x)$ for which there does exist a Lie point symmetry? If this is the case, there exists a transformation of the independent and dependent variables which renders the equation autonomous. The second-order equation can then be reduced to a quadrature and, maybe under some further restrictions, evaluated along the lines already indicated in the paper.

By definition [9,10] a second-order differential equation $L\left(x, y, y^{\prime}, y^{\prime \prime}\right)=0$ possesses a Lie point symmetry of the form, $\Gamma=\xi(x, y) \partial_{x}+\eta(x, y) \partial_{y}$, such that

$$
\begin{equation*}
\Gamma[\mu(x) y]=0 \tag{3.1}
\end{equation*}
$$

The advantage of this condition is that the coefficient functions can be taken to be simply functions of $x$ and $y$. Also the action of the second extension of $\Gamma$, i.e. $\Gamma^{[2]}$ on $L$, is equal to zero, i.e.

$$
\begin{equation*}
\Gamma^{[2]} L\left(x, y, y^{\prime}, y^{\prime \prime}\right)=\left[\xi \frac{\partial}{\partial x}+\eta \frac{\partial}{\partial y}+\eta^{[1]} \frac{\partial}{\partial y^{\prime}}+\eta^{[2]} \frac{\partial}{\partial y^{\prime \prime}}\right] L\left(x, y, y^{\prime}, y^{\prime \prime}\right)=0 \tag{3.2}
\end{equation*}
$$

with $\eta^{[2]}$ is given by

$$
\eta^{[k]}\left(x, y, y^{\prime}, \ldots, y^{(k)}\right)=\frac{D \eta^{(k-1)}}{D x}-y^{(k)} \frac{D \xi}{D x}, k=1,2, \ldots,
$$

where $\eta^{[0]}=\eta$ and $\frac{D}{D x}$ is the total derivative with respect to $x$, i.e.

$$
\frac{D}{D x}=\frac{\partial}{\partial x}+y^{\prime} \frac{\partial}{\partial y}+\cdots+y^{(n+1)} \frac{\partial}{\partial y^{(n)}}+\cdots
$$

In our case $L\left(x, y, y^{\prime}, y^{\prime \prime}\right)$ is defined by

$$
\begin{equation*}
L\left(x, y, y^{\prime}, y^{\prime \prime}\right)=-y^{\prime \prime}+f(x, y) \tag{3.3}
\end{equation*}
$$

where $f(x, y)=\lambda(x) \sinh (\mu(x) y)$, and the action of the operator $\Gamma^{[2]}$ on $L\left(x, y, y^{\prime}, y^{\prime \prime}\right)$ leads to a polynomial equation in $y^{\prime}$. By equating coefficients of powers of $y^{\prime}$ one arrives at

$$
\begin{equation*}
\xi_{y y}=0, \tag{3.4}
\end{equation*}
$$

$$
\begin{gather*}
\eta_{y y}-2 \xi_{y x}=0  \tag{3.5}\\
2 \eta_{x y}-\xi_{x x}-3 f \xi_{y}=0  \tag{3.6}\\
\eta_{x x}-\xi f_{x}-\eta f_{y}+\eta_{y} f-2 \xi_{x} f=0 \tag{3.7}
\end{gather*}
$$

Integrating eq.(3.4) and eq.(3.5) we get

$$
\begin{equation*}
\xi(x, y)=a(x) y+b(x), \eta(x, y)=a^{\prime}(x) y^{2}+c(x) y+d(x) \tag{3.8}
\end{equation*}
$$

Substituting these expressions into eq.(3.6) we obtain

$$
\begin{equation*}
2 c^{\prime}(x)=b^{\prime \prime}(x), a(x)=0 \tag{3.9}
\end{equation*}
$$

Finally, after we substitute eq.(3.4) and eq.(3.5) into eq.(3.6)-eq.(3.7), we get

$$
\begin{align*}
& \xi(x, y)=b(x)  \tag{3.10}\\
& \eta(x, y)=c(x) y \tag{3.11}
\end{align*}
$$

and

$$
\begin{equation*}
c^{\prime \prime} y-\left(\left(c-2 b^{\prime}\right) \lambda-b \lambda^{\prime}\right) \sinh (\mu(x) y)-\lambda y\left(\mu^{\prime} b+c \mu\right) \cosh (\mu(x) y)=0 \tag{3.12}
\end{equation*}
$$

From eq.(3.12) and by identification we get

$$
\begin{gather*}
c^{\prime \prime}(x)=0, \quad \text { i.e., } \quad c(x)=\alpha x+\beta  \tag{3.13}\\
\frac{\mu^{\prime}(x)}{\mu(x)}=-\frac{c(x)}{b(x)} \tag{3.14}
\end{gather*}
$$

which is obtained by the first condition eq.(3.1), and

$$
\begin{equation*}
\left(c(x)-2 b^{\prime}(x)\right) \lambda(x)-b(x) \lambda^{\prime}(x)=0 \tag{3.15}
\end{equation*}
$$

Hence

$$
\begin{equation*}
\frac{\lambda^{\prime}(x)}{\lambda(x)}=\frac{c(x)}{b(x)}-2 \frac{b^{\prime}(x)}{b(x)} \tag{3.16}
\end{equation*}
$$

The substitution of eq.(3.14) into eq.(3.16) gives

$$
\begin{equation*}
\lambda(x)=\frac{\Lambda_{0}}{\mu(x) b^{2}(x)} \tag{3.17}
\end{equation*}
$$

where $\Lambda_{0}$ is a constant. Differentiating eq.(3.9) and taking into account eq.(3.13) we obtain

$$
\begin{equation*}
b^{\prime \prime \prime}(x)=0, \text { i.e., } b(x)=A x^{2}+B x+C \tag{3.18}
\end{equation*}
$$

where $A, B$ and $C$ are constants.

Integrating eq.(3.14) and with the help of eq.(3.13) we get

$$
\begin{equation*}
\mu(x)=\mu_{0} \exp \left\{-\int_{0}^{x} \frac{\alpha s+\beta}{b(s)} d s\right\} \tag{3.19}
\end{equation*}
$$

If we summarize the previous calculations, the Lie point symmetry is of the form

$$
\begin{equation*}
\Gamma=b(x) \partial_{x}+c(x) y \partial_{y} \tag{3.20}
\end{equation*}
$$

where

$$
\begin{gather*}
\mu(x)=\mu_{0} \exp \left\{-\int_{0}^{x} \frac{\alpha s+\beta}{b(s)} d s\right\},  \tag{3.21}\\
b(x)=A x^{2}+B x+C \tag{3.22}
\end{gather*}
$$

and

$$
\begin{equation*}
c(x)=\frac{1}{2} b^{\prime}(x)+D \tag{3.23}
\end{equation*}
$$

where $D$ is a constant.
The equations (3.21)-(3.23) give the pairs $\{\lambda(x), \mu(x)\}$ for which a Lie point symmetry exists.

To relate the expressions for $\lambda(x)$ and $\mu(x)$ obtained in this section with those obtained previously, we consider $\mu_{0}=1, A=\alpha, B=2 \beta, C=\beta^{2} / \alpha$ and $D=0$, i.e.

$$
b(x)=\frac{1}{\alpha}(\alpha x+\beta)^{2} .
$$

Then by eq.(3.21) we obtain

$$
\begin{equation*}
\mu(x)=\frac{1}{\alpha x+\beta}, \quad \text { i.e. } \quad\left(\frac{1}{\mu(x)}\right)^{\prime \prime}=0 \tag{3.24}
\end{equation*}
$$

and by eq.(3.17),

$$
\begin{equation*}
\lambda(x)=\frac{\alpha^{2} \Lambda_{0}}{(\alpha x+\beta)^{3}}, \quad \text { i.e. } \quad \lambda(x)=a \mu^{3}(x) \tag{3.25}
\end{equation*}
$$

where $a=\alpha^{2} \Lambda_{0}$, which are the same expressions as obtained in Theorem 2.1.

## Acknowledgments

The authors are very grateful to the referee for his help and guidance with the preparation of this manuscript. Also, they express their sincere gratitude to Professors Peter Leach and S. Bougouffa for their valuable comments and suggestions.

## References

[1] M. Abramowitz and I. Stegun, Handbook of Mathematical Functions, Dover, New York, 1972.
[2] A. Erdélyi, W. Magnus, F. Oberhettinger and F. G. Tricomi, Higher Transcendental Functions, vol. 2, McGraw-Hill, New York, 1953.
[3] S. M. Roberts and J. S. Shipman, On the closed-form solution of Troesch's problem, J. Comput. Phys. 21 (1976), 291-304.
[4] E. S. Weibel, The plasma in magnetic field, in: A Symposium on Magneto Hydrodynamics, R. K. M. Landshoff (Ed.), Stanford University Press, Standford, 1958, 60-67.
[5] B. A. Troesch, A simple approach to a sensitive two-point boundary value problem, J. Comput. Phys. 21 (1976), 279-290.
[6] Elias Deeba, S. A. Khuri and Shishen Xie, An algorithm for solving boundary value problems, J. Comput. Phys. 159 (2000), 125-138.
[7] Shaher Momani, Salah Abuasad and Zaid Odibat, Variational iteration method for solving nonlinear boundary value problems, Appl. Math. Comput. 183 (2006), 13511358.
[8] Xinlong Feng, Liquan Mei and Guoliang He, An efficient algorithm for solving Troesch's problem, Appl. Math. Comput. 189 (2007), 500-507.
[9] G. M, Bluman and S. Kumel, Symmetries and Differential Equations, SpringerVerlag, New York, 1989.
[10] P. J. Olver, Applications of Lie Groups to Differential Equations, Springer-Verlag, New York, 1993.

